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Simulation of Darken’s Uphill Diffusion
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FeC T'a
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Ol & Sl
diffusion coefficien& ¢t
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#include=stdio.h= int i.j,number;

fincludesstdlib. h= double G_FeYa,G_ZiVa,G_Fe ic, /F free gibbs energy

#include=math.h= double+dGm_dycdy3i; /7 G FILE+result.

double+dGm_dyC: // G O] & 2/

#define R 8.3144621 doub | exdGn_dwdi: /S G O/ &24f result=fopen{ " result.

#define T 1323 doub | exdGn_dwC2: /S G O/ &4F

#define Length 0.1 doub | e+dGn_dy5i2; printf{ "Enter dt:" M

#define M_Fe 55,845 double+dL_FeSiva_dvSi;// L Ol 2 4F scanf( "EIf", &dt )

#define M_C 12.0107 double dL_FefivVa_dvsiz: /s L O F &t
#define M_Zi 28.0855 double dL_FesSiC_dvy3i; 4/ L O 7

|
[LE

|
[LE

| &2
| & 4f printf{"Enter du: "N

double L_FeC¥a:// L parameter] scanf{"XIf", kdu )

double+«L_Fe3iva: /S L parameter

double+L_Fe3iC:// L parameter number=Lenaths/dx=; 7/

double Omega_Fe,Omega_Si: AS0mega

doub | exdmnega_C: lamda=dt A dx+dx ) 77

double+Doc:

double+Dem: time=0; /4 Z 3| Al ZE

double+Dmnc:

double+0mm: /4 0 coefficient L_FeC¥a=-34671. /7 L parameter &2

double ®_Fe,=_2i,=_C; Afmolar fraction

doublesy_C: Ay fraction G_Feva=0;

doublesy_%i: Ay fraction G_SiYa=51000-(21,8+T ).

doublexyc: 474 FOM v B_FeC=77207-(15.877+T N

doub | e+ym; B_SiC=-205910+(38.7+T) S/ G 4 o4&

double lamda,d«,dt.time:

double+x=f _C: dL_FeSiYa_dysi2=8+39907;

double+xf_5i. dL_FeliC_dw3i=2+216320.5: 7/ L prameter O] & H &
doublewtf_C: Omega_Fe=((0.00007 J+exp({-286000 )/ (R+T )13/ (R+T };
doubleswtf_5i: Omega_3i=((0,00905 J+exp({-322465 )/ (R+T 133/ (R+T };




Forli=0; i<tnumber/2); £f % & 0.05m y=fraction CH &

Ci=numbers i++3) S LEE 0,06m o1

'M_Fe+{0,0014




Ket code

A
Wi leg 1)
i
time=time+dt:

ford i=0; isnumber; i++}
{

L-Felival i]=—125248+(41 1167 )-( 142708+ 1-2+y Si[ 0] ))+( 80007+ 1-2+y Si[i] )+ 1-2+y Si[0])) )
L-FeSICli]=143219,9+(39,31+T)-(216320 5+ 1-2+y_S([ 1] )}

dL_FeSiYa_dySili]=02=142708)-(4+89907+( 1-2+y_Si[i] )%

- z
fx ., ®f

dGm_dyCli]=0-(1-v_Sili] R Feva)-Cy_Silil+G_Si¥a el {1-v_Sili] )G FeCi+(y_Sili)+G_SiC)-({R=T)*log(1-v_Cli]J)

+{{R*T )+ logCy_CLil)=(01-v_Sili]ldey_SilileL_FeSiYalild+((1-v_Si[i])ev_Silil*L_FeSiCl[i]}+{{1-2+v_Cli]l)*{1-v_Sili])*L_FeC¥al; // O] =&t
dan_dySi[il=={{1-v_Cli] M+B_Feva)+{(1-y_C[i])*G_SiYa)-(v_Cli]+G_FeC)+{y_C[i]+«B_SiC)-{(R+T)=log{1-y_Si[i] }}

*{{ReT v logly_Sili] dae{{1=20y_Sili] Jo{1=y_Cli] yeL_FeBivYali] ye{{1=2ey_Si[i] »v_Clil*L_FeSic[i]}

={y_Clil#{1=y_C[i] }+L_FeCVa)e{(1=y_Sil[i] yew_Silils{1-y_Cli] JedL_FelSiYa_dySi[i] de{{1-y_Si[i]dev_Sililsy_Cli]~dL_FeSiC_dySil
dGn_dyC2[ i l=((R+T ) C1-v_CLil )I+((ReT )y CLi]-(2+(1-y_Si[i])+L_FelV¥a):

dEm_dySi20 i ]=(CR+T ) C1-w Sili] ))+C{R+T )y Sil i) )-(2+01-w CLi] J+L_FeSivali] »+(2+(1-2+y Sili] )+ 1-y_Cli])+dL_FeSiva_ dvSilil)

+{y B0 +01-w Sili] x(1-v_Cl1] J+dL_FeSi¥a. dySi2)-(2+y _Cli]+L_FeSiCli] +((1-2+y _Sili])*y_Clil+dL_FeSiC_dydi)+{(1-2+y_Si[i] ey _Clil+dL_FeSiC_dy&i) // H &
den_dycdydi[ i ]=6G_Fe¥a-G_SIYa-G_FeC+G_SIC-((1-2+y_Sili] J+L_FeSivali])

A0 -2+y SILID)xL_FeS iG] (0 2+y CLI ] -1 0L _FeC¥a )-((1-y 310 1] d+y S0 [ ]+dL_FeSi¥a_dySi[ 1] +(01-v Si[ 1] )y S101]+dL_FeSiCodySi ) //((2+y C[1])+L_FeC¥a) tern 7

A HIM FE| A
Duega_C[i]={0.0000004529«expi={{1-0,0002221+T J={{ 147723 1=w_C[i] }I={ 72007y _C[i] )}/ {R«T I} ) (R=T}:
Docli)=y_CLil*01-v_CLi] )+0mega_C[i]+dGm_dyC2[i]:

Domli]=w Cli]*01-w_Cli] )+0mega_C[i]+dGm_dycdvSilil:

Omelil=C{t=-y_Silildev_Silil+Omega_Sie(dan_dyClil«((1-v_Sili] J+dBm_dycdySi[il I d=Cy_Silil*{1-y_Sili] )*Omega_Fes{dan_dyClil=((w_Sili] *dGn_dycdwSilil))d 7/
Ommf i )=CC1-y_Si[i] ey Sili)+Omega_Si+(C1-y_Sili] )xdGm_dySi2[i]0)0-Cv_Silil=(1-y_8i[i] )+0Omega_Fes{{-v_Si[i] J+dEm_dvsiz2[i] )}




ford i=0; i<number; j++)
{

ifii==0)

;.-'rn[ il=v_%Zil i.] ;

else if{i==number-1)

w_C[i] J-sart{Dcclil+0ccli Jr(y _Cli]-w_Cli-1]1
) COcmlil+=0cm{i=1])+0y_Sili Li=1] 2w _Cli]:
win[ i]=d Csgrt(Omcli+1]+0mcl il Hl [i]d=sart{Omcli]l+0mc [i]-w_ 113
ssqreComml i+1]+0mn[i]3+(y_Sili+1]- = Silil-y_Sili-11)+ySilil:
1.:|:| Fii=00i=number: i++)

v Clil=vclil:
w_Ri[il=ymli]:




ford i=0; i<number; i++)

wF_CLil=twcli]dAC1+wc[i] ) a:

wF_Silil=wm[i]+(1-wF_C[i] N
wtf_Cli]=0Cuf_Cli]l M_Fe )/ ({1 AM_CI-C0 1 AM_C =01 A M_Fedsxf_Cli] 2)+100;
WEF_Si[i]=M_Si+uf_Si[i]+{Cwtf_Cli]/M_CI+{{100-wtf_C[i] )/ M_Fel);

For{ i=0: i<number: i++)

fprintfiresult,"&d E.101Ff & 100fFf%n", i+1,wtf_Cli],.wtf_Si[iln
fprintf{rezult,"ﬁn"};

breal:
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FDME O| 89} A{ fcc Fe-Si-C 39

| 1AM, carbon?] Darken’s
uph|II diffusion= simulation € £ QUC}.

ZAH2 Si s&71 4 =20 32 oI9l C9 chemical potential2 ¢
O|  =C}. W}etA] chemical potentialO] 2O} U} N}X] AtO] QojLt
(& 712718 HAE - up hill diffusion)

L JRirke

etA diffusion2 chemical potential X}O|%f| dominant®t % .

interstitial diffusion& o= Cl= 2] Si= substitutional diffusion
= U}7]| UjZ0j =4ito] “II° 4.
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energy 42 I}
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AN ZF 50V, 120A

O= I"'V*t=P*t, O= c*m*]T,
Density = 2780kg/m3

Specific heat = 795.0j/kg*°C
Strain rate = 10~-2 1 ™
AXE A= a=8.418*101-5
Poisson’s ratio : 0.32
SEHE25:400 °C
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x712t Y2
(P,want_T,dx,dt)

A 4
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#define Length 0.1

#define D 0.000084183
#define Density 2780
#define specific_Heat 735.0
#define strain_rate 0.01

(ﬂ: (o ) #define ratio 0,32

For{i=0;i<24) j++] forf{i=0ii=n; i++)
Adreali]=0.035+0.005; {

forfi=24; (<437 i++) ifli==0])
Adrealil=Areali-1]1-C((0.035+0.005)-(0.01+0.006)3/19 ) i

for(i=43; <670 i++) TFinal[il=T[il:
drealil=dreali-1]: '

For{ i=57; i<76; i++) else if{i==n-1J For{i=0;i<n:i++)
arealil=dreali-11+(((0.036+0.005)-(0.01+0,006)3/19; i {Dr 1=

Forf i=76: i<n: i++] TFinalli]=T[il]. CEf oo -
drealil=Areali-1]: } (Fli==49 11 1==50)

{
else )
for{i=0; i<n; j++) f iFCTOI ] =want_T)

. . . . . i
{ TRimal[il=C1-(2+lamda ) )+TLil+{ lamdas{ TLi+11+T[i-11)0 1 _ar .
dvlil=0.001«hrealil; } } TLil=Tli]l+del_T[i].
} else
Ll ert s i
Inr(| 0 i=ns i++) Tlil=want_T.
dmlil=Cdy[i]l+0ensity ) \ }
} else
Ll ert s {
I”r{' 0o tens i) IF(T[49]==want_T)
- . [ {
} del _T[i]=({P+0.001 3/ {specific_Heat=dm[i] I} il=TFinal[il;
}
else
Forfi=0:i<n:i++) //02t T2 @& AFH FHof &Ct {
{ TLil=TFinallil+del _TLil.
if{i==49 || i==R0)
Tlil=((P+0.001 3/ (specific_Heat+dm[i]))+300.15;

else
T[i]l=300,15:



PiFCT[49] =want_T)
' T[49] =want _T:
T[&0]=want _T:

gauge_0=(T[48]-300. 16 )+cpecific_Heat+dm[43]:
ifistrain==0)

fprintfiresult, 5. 101f . 101f E.10I1f¥n",strain,T[49],9auge_0);

O13)+(0.005-((strainfratioy0. 00500

ifi{gauge_T==want_T)

gauge_0=(gauge_T-300.15)+specific_Heat+gauge_ma

| S|

gauge_O=(want_T-300.15 )+specific_Heat+gauge_m

fprintfiresult, . 101f Z.101f Z.10If#n",strain,gauge_T,g9auge_0Q);

time=time+dt:
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